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Question Paper Specific Instructions

Please read each of the following instructions carefully before altempiling questions ;

There are ENGHT guestions divided in TWO SECTIONS and printed both in HINIM and in
ENGLISH.

Candidate has to attempt FIVE guestions in all.

Questions no, 1 and § are compulsory and out of the remaining, any THREE are to be attermpted
choosing at least ONE guestion from each section.

The number of marks carried by a question [ part {5 indicated against it.

Angwers must be written in the medium aufhorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QUA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Ward limit in questions, wherever specified, should be adhered to,
Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question

shall be counted even if altempted partly. Any page or portion of the page left blank in the
uestion-cum-Answer Booklet must be clearly struck off.
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SECTION A

Q1. Fr=fefes # @ g oy &1 31 @ 150 vregi | Hife
Answer the following guestions in about 150 words each : 10x5=50

(a) TEWEEA 1 B fam b @ amaiE 2 | A s e gig |
farm e wifea #d 2 2

The focal point of Sociology rests on interaction. How do you distinguish
it from common sense ? 10

(b) wW l Wierdee eI 3 doftarg & anem & ¥ A s e i e
Hifsr |

Distinguish between fact and value in Weber's Protestant Ethic and
Spirit of Capitalism. 10

(c) T AWH To=En 4 dig & o 0 ‘o’ o S = e E 7
Do you think ‘T’ and ‘Me’ are central terms in Mead’s work ? 10

(d) wrplow i i wmme & = wn e B o0 ofa ofn = fomsdi A
IaTE it |

What is the difference between natural and social inequality ? Give
examples from caste and class dimensions. 10

(e) Tersfim wurat f ofan & wdts e s € ==t Sifsm
What are the new forms of family in developed societies ? Discuss. 10

Q2. (a) T ATHEER! HETTH! S0 2 7 HigEw s it |

[s non-positivistic methodology scientific ? Hlustrate. 20

(b) ST 9T gEin & g @l W sETEn difdu | T WY aueTeE
A FATS F 3= Aewwedn g0 %1 faverm gefe 6 et & g o ww ‘
E?

Explain Durkheim's basic arguments on suicide. Can you analyse high
guicide rates of contemporary Indian society with Durkheim's theory ? 20

(¢)  FeaTHA =hitae o F1 gaTa & fero amifaes wds gHEes @ |
Evaluate if social stratification is functional for society. 10
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Q3. (a) N WEEARE F I EA SN A w1 e smufea # faede %
are wurdt # 2 = Hifem
Does collapse of functionalism and bankruptey of Marxism coinecide with
the rupture of modernity ? Discuss. 20
(b) Tiges & ofomw difau | sdafrs d&uf § figas fea v wfisss g
7

Define patriarchy. How does patriarchy manifest in interpersonal
relations ? 20

(c) oA 3l gETA & =" sAufemma # = sawEm ® 7 =men fifsm |

What is the difference between anomie in Merton and Durkheim ?
Explain. 10

Q4. (a) FEH & AN WHE AW AEEE warerm & e gen et e E e

wH fER sE S R s gga a7

According to Marx, how are human beings alienated from their human

potential and what does he suggest to change this ? 20
(b) T wE % w9t weel € SwEgE ofosftes = gfifem 5 6l 2

il T & Ogd o e i

Schooling does not ensure upward mobility of all members of the

society. Dhscuss with reference to class societies. 20
(c) Iy Twasy & fom wiits gwgrale % g Ira Tl 6 BEem

wHhifam |

Discuss the challenges thrown by religious revivalism to a secular

nation-state. I

EGT-P-50CY 3

www.examrace.com



=z B

SECTION B
Q5. Tr=fefas 4 @ weie w9 &1 3 T 150 Treai § e
Answer the following questions in about 150 words each : 1=5=50
(a) o FaEe wg A Al grae 6 e 3 8 2 feEsn Fif
Is the theory of cultural lag valid in present times ? Discuss. 10
(b) @41 | AEeH Hragdl @ wilaeie S JTeEl § e 7d § 2 =me
i, |
Are social movements primordial in means and progressive in agenda ?
Explain. 10
() N At wwmE w0 v fame o 2 R ?gﬁnﬁﬁﬁ%mﬂ
AT I F AgrEw T i |
Does scientific method make Sociology a science 7 Illustrate your answer
with Durkheim's method. 10
(d)  wrdt w9 # U IR F A, T U ) HEes S e
da-i % &e fave fifag |
Distinguish between guantitative and qualitative techniques of data
collection with suitable examples from Indian society. 10
(e) =T IS Tiastiern, T $ Haa gt § gy9 # 7 sHge w9 |
TIEED T hHitag |
Is social mobility possible in closed systems of stratification 7 [llustrate
from research work. 10

Q6. (a) Gt www § w6 F wwaw vea 6 gl i GEEw wEEEm 6
i’ % wey o Fifaw |

Discuss the nature of social organisation of work in capitalist society
with reference to the ‘Limits of the working day’. 20

(b)  Feva famm i SFern % Hgd J wfEn Wi Fge | fabg Fifa | ‘

Distinguish between family and household with reference to the concept
of development of the household. 21)

(¢) HWfTF FAE9H & =eTes it s faaredl ) sEmeon afka
=TT Hifau |

Explain with examples, the explanatory and exploratory designs of
sorial research. 10
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Q7. (a) U H qed wHEme # fvenw w0 § e F e @9 oW
fore w39 fen =1 war 2 2 g i |
How can Parsons” AGIL framework be used to analyse key problems in a
society 7 Dhscuss., 20
(b)  #fw F=Ega w0 & 2 fafmin s5im & semEl & 3w & o = fds
Fifar |
What is labour commitment ? Discuss it with reference to studies of
manufacturing industry. 20
(¢} W@ % IFFEW I % ghva sfierem wnoaw § 2 R Hifm
What, according to Pareto, are the basic characteristics of elites ?

"

Discuss. 10

Q8. (a) “gumEmEE weE g sfiew o Sfiemeim W R e § 2 & 4=
HaY i wEgH § w9 g9t @ 7 — ey, fem | smen fifm

“The sociological imagination enables us to grasp history and biography
and the relationship between the two in a society.” — C.W. Mills.
Explain, 20

(b) uw w ¥ 7 el el wftw ag-ads w8 vy B R
|

What are sects ? Discuss their role in multi-religious societies with

empirical examples. 2
(c) &M A fom ol 8§ ad %1 gura & fom wwmiors & &9 8§ sy fea a2
In what way did Durkheim perceive religion as functional to society ? 10
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